Basic Trigonometry

Basic TRiGoNoME TRY TRANSCRIPT

‘ lvu}fto“enule Sih = -&
o (:oute H
coes = A
H
(:an = _9-
1 A
ﬂJdﬁtCne’

A
B The, ‘\woofeﬂuse of a r.jhé-anjled fn'omak rls alm«as

Ehe ’Dn%c(f side  the eone o,o,oofiée the right -ang le.

Houex)ef) Ehe oP,DOS)('Q and aJJacené S;Aes are Je‘éned

ﬂuow"rws to which c’m:)le we are con{bJen'mj,

SOHCAHTOA can be a uvseful aid ¢o rcmcmé,e/‘mﬂ
Ehe dedinkions of the I bagic Er:ﬁonom&/fc ratios,

SoH Slat= = CAH cos = A TOA tan =5
H H A

1€ Ehis coes not L\c'p) ti_\cu 61‘3 lta/h'mz!

Scme Old “o({¢§ Can Alwﬂ«as Hear Their Owners Approacﬁfnj,

Basic 6{339»»‘4»&3 can be uvsed o calelate Ehe lenaf‘fn;

of sideg and the izes of anales In r/j!-\f-a.njlal én'm.?(es,



E,g( \'t/\ N F;WJ pld
z'sO) x 9 Sin =
. H
Sin2 3° = 2
(]
17 sin23° =
X = 6.64 cn
o
EXZ— T F\.no‘ ) A
COS:-('-_-"
A X 379% 3 Kw
H cos37° = <
31
3]605370 = x
X z24.8 Knm
Eﬁs F\‘QAX o
&ﬂv\ = _,{T
4 e 1w’
2S5 m
E«hléo =
_ 25
0 25 banll’ = x
X = .07
(0]
1%en f;«w& X

Ex 4




Ex¢

Exk

23w

62°

0

SaAnm

<

F(h/‘x

L3
gl‘v\ S"Bo

1]

C

X = 6.3 cnm

c_osré
S

Cos 4° =

M cos4° = 54

¥ = 519

co$ 4°

WK =5, m




